Standard Potentials at 25 °C

Half Reaction

Fo(g) + 2 = 2F(aq)

Os(g) + 2H*(aq) + 2e” = Oy(g) + H0(¢)
S,0g%27(aq) + 2~ = 250,427 (aq)

H,05(aq) + 2H"(aq) + 2 = 2H,0(%)

PbO5(s) + 3H*(aq) + HSO4 (aq) + 26~ = PbSOy4(s) + 2H,0(2)
Aut(aq) +e~ = Au(s)

Pb%*(ag) +2e~ = Pb?*(aq)

2HCIO(aq) + 2H*(aq) + 2e~ = Cl,(g) + 2H,0(?)
Ce**(agq) +e~ = Ce3*(aq)

MnO4 (aq) + 8H*(ag) + 56~ = MnZ*(aq) + 4H,0(%)
Audt(aqg) + 3e- = Au(s)

Cly(g) + 2= = 2Cl (aq)

Cr,0727(aq) + 14H*(aq) + e~ = 2Cr3*(aq) + 7H,0(%)
O,(g) + 4H*(aq) + 4e = 2H,0(2)

MnO5(s) + 4H*(aq) + 2e- = MnZ*(aq) + 2H,0(%)
21037 (aq) + 12H*(aq) + 10e™ = Iy(s) + 6H,0(¢)
PtZ*(aq) + 2~ = Pt(s)

Bro(2) + 26 = 2Br (aq)

PdZ*(aq) + 2~ = Pd(s)

2Hg**(aq) + 26 = Hgy**(aq)

ClO~(aq) + H,0(£) + 2e = Cl (aqg) + 20H™(aq)
Ag'laq) +e” = Ag(s)

Hgo?*(aq) + 2¢~ = 2Hg(Y)

Fe3*(aq) + e~ = Fe?*(aq)

Ib(aq) + 2e~ = 2l7(aq)

MnO4 (aq) + 2H,0(£) + 3e™ = MnO5(s) + 40H™(aq)
Ir(s) + 26~ = 2I7(aq)

O5(9) + 2H,0(2) + 4e = 40H"(aq)

Cu?*(aq) + 2e- = Cu(s)

Hg,Cl,(s) + 2 = 2Hg(f) + 2Cl7(aq)

AgCl(s) + e = Ag(s) + Cl7(aq)

Bi%*(aq) + 3e” = Bi(s)

Sn**(aq) +2e” = Sn?*(aq)

NO37(aqg) + H,0(2) + 2 = NO, (aqg) + 20H™(aq)
2H*(aqg) + 2 = H,

Fe3*(aq) + 3e” = Fe(s)

Pb?*(ag) + 2e~ = Pb(s)

Sn?*(ag) + 2e” = Sn(s)

Ni%*(ag) + 2~ = Ni(s)

V3*(ag) +e” = V?*(aq)

Co%*(aq) + 2e” = Co(s)

In3*(ag) + 3e~ = In(s)

PbSOy(s) + H*(ag)+ 2e” = Pb(s) + HSO4 (aq)
Cd?*(aq) + 2e- = Cd(s)

Cr3*(aq) + e~ = Cr?*(aq)

FeZ*(aq) + 2e” = Fe(s)

U*(aq) +e= = U%(aq)

FeCOs(s) + 2~ = Fe(s) + CO3% (aq)

Zn%*(aq) + 2~ = Zn(s)

2H,0(L) + 2e” = Hy(s) + 20H(aq)

Cr?*(aq) + 2e- = Cr(s)

MnZ*(aq) + 2~ = Mn(s)

VZ*(aq) + 2e” = V(s)

ZnS(s) + 2e” = Zn(s) + S? (aq)

AlP*(aq) + 3e= = Al(s)

Mg**(aq) + 2e” = Mg(s)

Na*(aq) + e = Na(s)

K*(ag) + e~ = K(s)

Lit(aq) + e= = Li(s)
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